Question Booklet Series - A

. WeurereD Aol A 8R L ) Bies | faufed fparsrar 3 "Ry ____ #ea 8l
In a relational schema, each tuple is divided into fields called
(A) R / Relations

(B) SIA18/ Domains
(C) &9 / Queries
(D) SRIad & ®Is 781 / None of these

. T 2x + 3y =5xy, Ol (dy/dx) Sarsq
Let 2x + 3y =5xy, Find (dy/dx)
(A)(3-5x)/(5y-2)

(B) ( 2+3)/5

(€) (2-5y)/(5x-3)

(D}5/(2+3)

. WIUCHER faST &1 UYH RO B 91 87

Which one is first phase of software development?
(A) SHEazaHdr f[a%edyor / Requirement analysis

(B) f&%1g / Design _

(C) ®1f&7 / Coding

(D) wigrr / Testing

. fiftpaa *+ab-cd & URefhed 9 8

The postfix equivalent of the prefix *+ab-cd is
(A)abt+cd-*

(B) abed+-*

(C) ab+ed*-

(D) ab+-cd*

. To-aor enfeb & forg Frafef@a o wraet 82

Which of the following is true for two-phase locking?
(A) fafta w=or & @@ Wikt / Lock acquisition is the second phase

(B) @l & fpelt ot e <ifSia fasar &1 9awar § 7 Locks can be acquired at any time
(C) wuH =Rl 7 @l &1 ifdfa farar omar 8 / Locks are acquired in the first phase
(D)auffaa H %1% 78] / None of the above

. Off qeite o smavae gernell Bt sraxadant 78 B

The searching technique in which there are no unnecessary comparisons is called.
(A) g3t T/ Binary searching |

(B) SR Ikt / Sequential searching

(C) §fXi7T / Hashing

(D)3 & § HFE 781 / None of these
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7. quiarant quT degdier Haet B e % Ry, SeTR STifd 18 §
The most commonly used code to represent alphabets and punctuation characters is
(A)BCD
. (B) ASCII
(C)EBCDII
(D)SWia H ¥ H 761 / None of the above

8. Foffead o 9 F T 751 87
Which of the following is not the member of class?
(A) Tifde H1t / Static function
(B) iz w1 / Friend function
(C) fari® &1 / Const function
(D) 3myrft i/ Virtual function

9, THAS A=0011 0101 1001 1100 PT 2’s HifGHe FT 87
What is the 2°s complement of this word, A= 0011 0101 1001 1100
(A) 1100 1010 1110 0100
(B) 1100 1011 0110 0100
(C) 1100 1010 0110 0100
(D) 1100 1000 0110 0100

10. VoIP 7 314 §
VoIP stands for
(A) &I?R@H WD UR A1GT / Voice over Intematmnal Protocol
(B) $c3iT UICIdId U= ST / Voice over Internet Protocol
(C) 3iRIFT Uieisia IR 4ifSdl / Video over International Protocol
(D) Fe3e Wiersia | 9IS/ Video over Internet Protocol

11, 3efiaRor & SR

During validation

(A) U1 1 iTd B ST § / Process is checked

(B) SIS B Sig $1 &RA § / Product is checked

(C) gam ¥ P &1 geaie fan o § / Developer’s performance is evaluated
(D) S5 & @18 81/ None of the above

12. 9§ 3T “In —s™ HHIS BT STANT B ©, Fafefea # = grar 87
When you use the “In —s” command, which of the following oceurs?
(A)WWWW@HT%G’IWW@’IW%
A file is created that points to an existing file
(B) & PISd &1 o Bral ¢ Sl JaH Brsd o1 ufaiaift grit
- Afile is created that is a copy of an existing file
(C) T &I T o VI IR HI5d RIFANT ol g
A file is moved from one location to another
(D) WT5e B g =i o S g1

A file is renanded
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13.

14.

15.

16.

17.
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Sfaenfspar §uR

Interprocess communication

(A) BT 3aRge T8l / is never necessary '

(B) wfseradl &Y GresIer Hrar § / allows processes to synchlomze

(C) Tl ulshansii & ferg sia=yge / is required for all processes

(D) {&%p gred gRT WHIG: {51 S § / is usually done via disk drives

fepgraes & WretH 71 87
In cryptography, what is cipher?
(A) TR quT e o g sramied
Algorithm for performing encryption and decryption
(B) TAHYS TR / Encrypted message
(C) (a) auT (b) <1 / Both (a) and (b) -
(D) SR ¥ $1 7181 / None of the mentioned

FraaE I $ Yoo ¥, v aur ufifraneait Sar weETe wuel &1 A 82

What is the name of the operating system that reads and reacts/responds in terms of
actual time? -

(A) §9 YumTell / Batch system

(B) g¥d ufdfesa womel 7 Quick response system

(C) Irafd® ®Tet Womal / Real time system

(D) 13| AT yonieht / Time sharing system |

il HISYed, aria® w0 9 EEGRE
By default, kernel modules are present in

(A) /lib S8l / /lib directory

(B) /root S8R / froot directory

(C) /boot BEXEE / /boot directory

(D) IR H P15 781 /-None of the mentioned

frfefaa & gl w g?

" Which of the following is correct?

(A) SQL &8 wa: gfRide &) gerr 8/ An SQL query automatically eliminates duplicates
(B) 3fg fram ox s A § a1 SQL S s Adf o -

An SQL query will not work if there are no indexes on the relations
(C) SQL T4 iz & 7 & RIghy 1 S 31

‘SQL permits attribute names to be repeated in the same relation

(D)SWRIE H BT 781 / None of the above
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18, iR ST Siemd 7 S1S-eqe R 37
“What is the output of the following Java program?
class StringTest {

public static void main(String args[])
{ String obj = "hello”;
String objl = "world";
String 0bj2 = "hello”;
System. out. printin(obj. equals(obj] ) + """+ obj.equals(obi2));

(A) Picy BT / false false
(B) ¥ % / true true

(C) Bra g / false true

(D) T W / true false

19. C U & SEAagds THT U FETer MO Bl aToe ST &1 96! 759 31 &
 What is the correct value to return to the operating system upon the successful
completion of a C program?
Al
B)-1
G0
(D) FrisH TF ST a9 Tgl BT/ Program does not return a value.

20. P-TrRy YridSaer &1 o g
P-type semiconductor means
(A) ST Y aiftiepar aur Yefidreder Mururd 3
Excess of electrons and semiconductor is neutral
(B) 3aaell & wift qur YfiFsaeR Fwv g
Shortage of electrons and semiconductor is neutral
(C) AT BT AFHAT T IHH ST BUTHD
Excess of electrons and semiconductor is negatwe
(D) FARCH DI HH TUT JHH SR YTHS

Shortage of electrons and semiconductor is positive

21. OOPS & o It Hif 1 ord & UIew 31 bawt sae Y1 &1?
Which of the following concepts of OOPS means exposing only necessary information to
client?
(A) ST HTEaw / Encryption of data
~ (B) ¥eraEfET / Data binding
(C) €1 873181 / Data hiding
(D) 3wied & 315 781 / None of the mentioned
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XML TN Bl §

XML uses

(A) T FeiRa 21/ User defined tags
(B) yd-fyifxa &1/ Pre-defined tags

- (C) yd-fFuffea 3 weiiear fyffed & €t/ Both pre-defined and user-defined tags

23,

24,

25.

26.

(D) HTML ¥ SUde v 277 a2 S8 1w THIEriell §1aT &1/ Extended tags used in
HTML and makes them powerful

e Tlaror 3 R Rt 3 omavam SNavRs s B FEI &)
The overhead code required to be written for unit testing is called

(A) §Iga/ Drivers
(B) =4/ Stubs

(C) WTHIfeET / Scaffolding
(D) SR # H1% e / None of the above

FDDI &1 34 8

FDDI is .

(A) FoT9eg® / Ring network

(B) ¥R 9¢d% / Star network

(C) B=1 ead / Mesh network

(D) S 31TRT “€a / Bus based network

T 3224 HUER 3 ¢ o) a9 e 5o ¥ oAfHT Suan & R s fpar s
EHT B .
General purpose computers are those that can be adopted to countless uses simply by
changing its

(AY® 9 / Keyboard

(B) oy Printer

(C) W / Program

(D)ve=f %17 / Display Screen

PIET BT U BT UTL B
An important aspect in coding is
(A) goHTar / Readability
(B) Sctaen / Productivity
(C) YYrEYF BTt ATR! WY &1 STaRT HIAT
To use as small memory space as possible

(D) sfafe / Brevity
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27. Pafifd § & givasa Tc @) gxit|
Find Universal gate from below
(A)AND
(B) NAND
(C) NOT
(D) Ex-OR

28. frafiea & & o area w8 87
Which of the following statement is correct? ‘
(A) T 3 1 Hwon % wHy ol o1 gerat s g
A constructor is called at the time of declaration of an object.
(B) T 9% I SUGNT Hq 09 UF {wforasd ) geirdr S 51
A constructor is called at the time of use of an object.
(C) i &) Bron % To T Fmivmal 1 e S 8|
A constructor is called at the time of declaration of a class.
(D) @t & SuhNT & THY U Fwforesal g S |

A constructor is called at the time of use of a class.

29, FaEC-EIES Wil fpp % ury Fuffea 7 3 o) T8t 97w S Yebar 87
Which of the following can't be done with client-side JavaScript?
(A) T B BT JfiFR0T/ Validating a form
(B) £-Tet g1 wref ¥ fawasg ®1 9o/ Sending a form's contents by email
(C) TR IR BT Pt fawaasg &7 Sered Bred H Heid #T
Storing the form's contents to a database file on the server

(D) SR § ¥ $1g g1 / None of the above

30. gex3e URL # 217 daa Sre (TLD) ‘org’ T Al e 82
What does the term top level domain (TLD) ‘org’ represent in Internet URL?
(A) Y H& / Profit Organization
(B) R @14 716+ / Nonprofit Organization
(C) g™ / Community
(D) &N Y137 / Government Organization

31. /root ARAAE =0 J T 37
By defanlt, what is /root?
(A) ¥ w13 R / root file system
(B) &< goR & 519 S15¥acdl / home directory of the root user
(C) ¥t srvaed Forad wraRned & Jul sreeed §

the directory which contains all the directories of the file system

(D) SRFT H PS8!/ None of the mentioned
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32. SJF sremiiyy

The SJF algorithm

(A) T T 9a9 Ne oMU ST ) Ugd Sl 8l
Executes first the job that last entered the queue

(B) & & Fa% U5 MU b1 &) U5at B3l o
Executes first the job that first entered the queue

(C) afr o Sarfepr sima=amarell & Y 1 &7 Ugd Har gl
Executes first the job with the least processor needs

(D)&g H aifay e 1@ o1 ®F ugd HRar ¢ :

Execultes first the job that has been in the queue the longest

33. Wierar weo R T S g
Acceptance testing is done by
(A) ST / Developers
(B) y&iadr / Customers
(C) uReorb / Testers
(D) SWRiad w4t/ All of these

34, TR AT
In a transistor emitter is N
(A) (i Sy fosar 7ar / Heavily doped
(B) ¥4 11 T a1 / Lightly doped
(C) ST gt fawar mar / Not doped
(D) TR ¥7 J 819 o1 771 / Moderately doped

35, 99 BieH f” 1Ry & 9 Fea § 99 99 W Sel | g7
What is the energy possessed by a photon while it moves with a frequency ‘f*?
(A)E=th '
(B)E=hf
(C) E=h/f
(DYE=1/(h 1)

36. eadh 1 Hifdew wa §
The physical layer of a network
(A) PR YT YR Gy & dg § uila Savd] & 3afdema siftiasr
Defines the electrical characteristics of signals passed between the computer and

communication déevices
(B) Ffe T a1 S F1 AT 7 Controls error detection and correction
(C) 3e1 ¥Fe! &1 it e Head T ARUR Aeiar g

Constructs packets of data and sends the across the network

(D) SRITd | ﬁ‘sf :lﬁ / None of these
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37. wga e XA & R e wmifs &1 9o v §7
Which command is used to print a file
(A) T / print
(B) ptr
(C) lpr
(D) IR H ®18 81 / None of the above

38. T Iam ey Eaikuty
A good specification should be
(A) srdf¢™ / Unambiguous
(B) WE w0 ¥ faffdy / Distinctly specific
(C) w/i@E® [ Functional
(D) SwRiad H &5 7181 / None of these

39. Fafuf@d PHP IS &1 3y 1 §IT?
What will be the output of the foIlowmg PHP code?
<?php
$a=35;
$b=5;
echo ($a ===8b) ;
7>
A)5===35
B)1
C) Error
D) False

40, Brfars T B $8d B
Functional testing is known as
(A) T¥gIHP T80T / Structural testing
(B) 3iTeRONES Ua0T / Behavioural testing
(C) wferTe wdigin / Regression testing
(D) SWied 7 315 761 / None of the above

41. <tr>,<id> and <th> H R g SR T
Main container for <tr>,<td> and <th> is
(A)<group>
(B) <data>
(C) <table>
(DYl / All of these

42, IEIER SO 3T T Se%4 §
Software engineering primarily aims on
(A) fywila Ieedar / Reliable software
(B) @RTd WyTdt IRAER / Cost effective software
(C) TP qur Tl TTdl WIeedRR / Reliable and cost effective software

(D) SuRred ¥ g 781 / None of these
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fore o ® fowy gArFar §
Find which word has odd parity
(A)1111 0011 0100 1101 1100

(B)1111 0110 1101 1011 1001 -
(C) 1110 1011 0110 1101 1000

- (D) 11100011 0110 1101 1000

44.

45.

46.

47.

ST ST s A Praffed H Gy adis § T 3 dor, fHmion gur gee sd 22
Which will legally declare, construct, and initialize an array in Java programming
language? '

{A) int myList {] = {5, 1, 9};

(B) int [} mYLiSt — {ngn’ ||37u’ 1!11;};

(C) int [] myList=(4, 3, 2);

(D) int myList [] [] = {2,1,6,0};

SR GRIPRR & IR & Fafafed 3 § 919 91 are g8 82
Which statement is correct about operational amplifier?
(A)3GH 3 YT UORYY T IoF ey ueriy g

It has high input resistance and high output resistance
(B) 34 9 g1ge ufakry qut 39 sigeye ufeRiy 8

It has low input resistance and low output resistance
(C) 39% 3= 371ge uferiy aur 7 argeye ufadiy §

It has high input resistance and low output resistance
(D) 39% 7 T7Ye vfekiy qur 9= edeye Wiy &

It has low input resistance and high output resistance

frafaRed gadi & fae of g o &

The most appropriate matching for the following pairs:

X : eiugel day / Indirect addressing 1./ Loop

Y : aapTd Y / Immediate addressing 2. uiRiex / Pointers

7. : ey 1$fb AT T / Auto decrement addressing 3. f&R7® / Constants

(A)X-3, Y-2, Z-1
(B)X-1,Y-3,Z-2
(C)X-2,Y-3,7-1
(D)X-3.Y-1,Z-2

9 q T9Y I 2T TR el @i |t 87
Which is the fastest data transfer mechanism ?
(A) IIfT /O / Programmed VO

(B) 3 I/O / Interrupt /O

(C) DMA |

(D) SWRYad § ®1s 78! / None of these
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49,

50.

51.

52.
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UNIX e qoret
UNIX operating system

(A) AieegsR / is multiuser |

(B) HfeceiRb/ is multitasking

(C) PC T 5t YOIl R IR S §hal & / can run on PC’s and larger system
(D) SR T+t 7 All of these

256Kb % HHRY & 37 Iuas FRH F 0 fha 32k x 1 RAM R &1 srawgerar §7
How many 32k x 1 RAM ChlpS are needed to provide a memory capacity of 256kB?
(A)8

(B)32

(C) 64

(D) 128

WPAzﬁﬁz&n%E,r ﬁwmw%
WPAZ2 is used for security in

(A) $URT / Ethernet

(B) =Jg¥ / Bluetooth

(C) 3-% / Wi-fi

(D) STRiTd 8 $15 a1 / None of the mentioned

Soffrma QU

The data-link layer is concerned with the

(A) fae 9090 S / Bit transmission function

(B) Ud%e HUWuI B / Packet transmission function |
(C) O: - 9T 3T / Re-transmission delay

(D) $¢1 &1 @@ / Encryption of data

TRFMRER &, o o R e e oroar | A Ra R wmar g

In a microprocessor, the address of the next instruction to be executed, is stored in
(A) ¥ UIfticy / Stack pointer

(B) T$9 @9 / Address latch

~ (C) UTumM BT / Program counter

53.

(D) W IR RReR / General purpose register

Wmﬁwwﬁwm%aqw%w%aﬁﬁﬂaﬁhwaaﬁqﬁﬁaéﬁw
T s 87

Which of these keywords is used to refer to member of base class from a sub class in Java
programming language?

(A) 3o [ upper

(B) g / super

(C) fa= / this

(D) S9Fd § ¥ B 781 / None of the mentioned
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54. TN GG 2479 BT §FAS AT TAFIS FAgy?
Find hexadectmal equivalent of decimal number 24797
(A)9AF
(B)FA9
(C)8BA
(D)Y98A

55. a1 feamrr wep famy whreer € Forerdy
A data dictionary is a special file that contains
(A) 9} wrgell # 9t Wita! &1 =1 / Names of all fields in all files
(B) M wrEdl ¥ @l wies! & Sier egu/ Data types of all fields in all files
(C) Tt wrgat # it B! 9 9ISTS / Widths of all fileds in all files
(D) ITRIe 94t/ All of these

56. C denfei v & fafaf@a § ¥ o9 w1 v b aiad i ey & 711 87
Which of the following is not a correct variable type in C programming language?
(A)wie / float
(B) fraa / real
(C)ge/int
(D)S«d / double

https://www.freshersnow.com/previous-year-question-papers/

57. HTML 27 fReffied ova §

HTML tags define
(A)TETAT & €T <RY & ol 1/ The data types of elements of document

| (B) T g 1 fAfAfEY Tl &7 wgdl®sRur/ Presentation of specified elements of a

document

(C) &%a1aw & fquga¥ / The contents of the document
(D) ZMaH & I3 / The structure of the document

58. Wi Afe W E
Sparse matrices have
(A) 3% I Tfaf¥dl / Many zero entries
(B) 3@ 3-8 9faf¥al / Many non-zero entries
(C) S=rR STH / Higher dimension
(D)W & § B1S 181 / None of the above
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59, 9 3G YW & A1 B A1 i uRTY S Sy aa 87

60.

Which logic circuit gives high output when the inputs are same?
(A) AND

(B) Ex-OR .

(C) NAND

(D) Ex-NOR

C ¥ PraffEd feu & fharaed & o S R S H 9o & axifar Sme?
What number would be shown on the screen after the following statements of C are
executed?

char ch;
int i;
ch="G";
i=ch-'A";
printf("%d", i),
(A)S
(B)6
(C)7
D)8
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Rough work
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